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If n € N, then 121" — 25™ + 1900™ — (— 4)" is
divisible by which one of the following ?

(a) 1904
(b) 2000
() 2002
(d 2006

If n=(2017)!, then what is

1 1 1 1
+ + o ————

Iog2 n log;n log, n log .,
equal to ?
(a) O
b 1

n
(c) 2
(d n

In the expansion of (1 + )43 if the coefficients
of (2r + l)th and (r + 2)th terms are equal, then

what is the value of r (r# 1) ?

(a) 5

(b) 14
(e 21
(d) 22

(2-A)

What is the principal argument of (-1 — i),

where i = - 1?

(a) mf4
b -—mnf4
(¢) —3r/4
(d) 3rn/4

" Let o and B be real numbers and z be a

complex number. If z2 + oz + B = 0 has two
distinct non-real roots with Re(z) = 1, then it is

necessary that

(@) PBe(-1,0) -
(b |Bli=1

() Pe(d,eo)
d Ppe(,1)

Let A and B be subsets of X and
C=(ANB)U (A N B), where A’ and B’ are

complements of A and B respectively in X.
What is C equal to ?

(@) (AUB)-(AN B
(b) A'UB)-(A'NB)
(0 (AUB)-(ANB)

d A UBY)-(A'NB)
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It n e N &, a6 121" — 252 + 1900" — (= 4)"

Frfafea o o froa fausa 2 2
(a) 1904
(b) 2000
(¢) 2002
(d) 2006

g n=(2017)! B,

1 1 1 1
+ + +vss F ——————
logz. n log3 n lcbg4 n 10g2017 n
v sqe 2 2
(a) O
thl 1
n
(c) E
(d n

(1 + %% war §, 7R @r + DA 3 (r + 23
Tl % TR S B, @ or(r £ 1) W OHE R
22 |

(a) 5

(b) 14
() 21
(d) 22

(3-A)

(-1- i) W&l i=~1 8, %1 q& $Hvis a1
27

(a) m/4
(b) —-m/4
() —3m/4
(d) 3n/4

A ST o 3T p ardfaes et & 3k 2 o
T g 8 1 I 22 + 0z + B =0 Relz) =1
% Wiy o fire sramefas et €, A 98 Areves
2 &

(a) Pe(=1,0)
(b) |B]=1
() Pe(l,)
(d PBe(0,1)

m ofife A oft B, X ¥ IvEmem ¥ sl
C=(ANB)U @A NB) B & A T B
HHY: AR B, XH T 8 | C foresp stmr
72 |

@ (AUB)—(ANB)
b (A’UB)—(A’NB)
© (AUB)—(ANB)

d (A'UBY)-(A'NB)



T How many numbers between 100 and 1000
can be formed with the digits 5, 6, 7,8, 9, if
the repetition of digits is not allowed ? .
(a) 3°
) 58
(e 120
(d) 60

8. The number of non-zero integral solutions of
the equation |1-2i|*=5" is
(a) Zero (No solution)
(b) One
(c) Two
(d) Three

9; If the ratio of AM to GM of two positive
numbers a and bis 5§ : 3, then a:b is
equal to
(@) 3:5
(b) 2:9
(&) 9:1
(d 5:3

SRICY—S—ADN

10.

11.

12,

(4-A)

If the coefficients of a™ and a® in the
expansion of (1 + a)™™ are o and P, then

which one of the following is correct ?

(&) - a=20
(b) a=p
@ 2a=p

(d o=(m+n)B

If x + log;z(1 + 3%) = x log;;5 + log,;12,

where x is an integer, then what is x equal to ?

(a) -3
(b) 2
(i |
d "8

How many four-digit numbers divisible by

10 can be formed using 1, 5, 0, 6, 7 without

repetition of digits ?
(a) 24
(b) 36
() 44
(d) 64
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100 3R 1000 % ==, 37 5, 6, 7, 8, 9 ¥ Tera
HEA 57 | 8, AfG 37t 1 gAah T
ST 2

(a) 3°
b) &
() 120
(d) 60

i |1 20| = 5% % AW QUi gt i
g foraedt & 2

(2) T (S & )
(b) TH
©

(d)

afg Q1 GATeHR FEsll a 3K b H AM (WHTER

mw)ﬁGM(ﬁUﬁﬂme)maagcrma::s%,
?ﬁa:b%ﬁaﬁﬁ'{ﬁ'{%?

(@) 3:5
(b) 2:9
) 9:1
d 5:3

10.

11.

12.

(e

G (1 + )™ F TAR T o™ 3K 2" % o
o 3R g &, a1 F=forfiad 3 @ war ad 8 2

(a) a=2B

(b) w=p

() 20=p

(d a=(m+n)f

afe x + log,s (1 + 8%) =x log,s 5 + log,; 12, Eid

« T qUIleh &, A1 x e SR 3 2
(a) -3

(b) 2

) 1

d 3

éiﬁaﬁgwq%%q%m 1, 5,0, 6, 7 1 JAM
Fh 10 8 Al g9 arell = a9eh! 1 fRpad)

HEATE §AT T Thell 8 2
(a) 24
(b) 36
44
(d) 64



Consider the information given below and|16. The equation |1-x| +x%=5 has
answer the two items (02) that follow :

In a class, 54 students are good in Hindi only, (a) arational root and an irrational root
63 students are good in Mathematics only and

41 students are good in English only. There (b)  two rational roots

are 18 students who are good in both Hindi

and Mathematics. 10 students are good in all (¢) two irrational roots

three subjects.
(d) no real roots

13. . What is the number of students who are good
in either Hindi or Mathematics but not in

English ?
(a) 99 17. The binary number expression of the decimal
®) 107 number 31 is
(). 126 (a) 1111
(d) 130
(b) 10111
14. What is the number of students who are good © 11011
in Hindi and Mathematics but not in English ? &
(a) 18 d 11111
(b) 12
(c) 10
d 8 18. What is §1000 4 1001 4 ;1002 ;1003 equa] to

(where i= ,—1)?

15. If o and B are different complex numbers with

|ot| = 1, then what is |—— L equal to ? a0
1-ofp :
b i
(a) |B]
(b) 9 (c) -1
e 1 @@ 1
d 0

SRCY-S-ADN (6—A)



et &t g g v e g s st o aret| 16, wHE [1-x | +x%=5 % &

a?(oz)wﬁ%ma?ﬁw: e
TH HAT H, 54 T had el H I 3, s B &
63 BT had TG A 3= ¥ 3 41 O Had (b) < afdT g
AU H A= & | 18 B UH 7 I fadl 3R
Tforg 2§ aed § 1 10 B @ R A () 1 AT g

IR | (@ g ot aredfens gt Tl
13. U0 el K e e ® S o oa = om
wfor # s & Afth e § ored 4 € 2
(a) 99 | 17. eWcid &1 31 & fganuil d= S
(Afeafo) &
b) 107
(¢ 125 (a) 1111
@ 130
(b) 10111
14. U BE F TE A ¥ S R ik e B S
3D § wiferT S o o=s TE § 2
_ @ 11111
(b) 12
(c) 10
d 8

18. ilOOG + i1001 sk 51002 + i1003 -ﬁ;ga; TSN %
15. I o 3R p fimfm afty dend & & (Seii=J-1)282

la] =18, @ 2L foraes et ® ?
1-ap (a 0
(@ |[B| (b) i
(b) 2
(e) -1
(c) 1
d 1
d) O

SRCY-S-ADN | (T=A)



19. What is
45 1 1 ;i
; -2 Faee T
11:1‘g2 N log, N log, N log, , N
equal to (N # 1) ?
1
(a) ———
10g100! N
1
(b) Tnee N
I.UE %! AN
99
(c)
10g100! N
9
B
08 gg
20. The modulus-amplitude form of Jg + 1, where
L= 4—11s
(a) 2[005 T L isin E]
3 3
b ofow Zrisinf)
6 6
4(005 — +isin EJ
3
4[008 — +isin E]
6
21. What is the number 01’ non-zero terms in the
expansion of (1 + 24831 4+ (1 - 248 =)
(after simplification) ?
(a) 4
(b) 5
(e) 6
d 11
SRCY-S-ADN

22.

23.

24.

(8-A)

What is the greatest integer among the
following by which the number 5°+7° is
divisible ?

.(a) 6
(b)y 8
(c) 11
(d) 12

If x=1-y+ y2 - yB + ... up to infinite terms,

where |y| <1, then  which one of the
following is correct 7
(a) x= .
1+y
1
(b)Y x=
1-y
(e} =x= wtl
l1+y
) m= T
1=y

What is the inverse of the matrix

cosh  sin® 0
A=|-sin0 cost Of?
0 0 1
cos) —sinf 0
(a) sin 0 cos © 0
L 0 0 1)
fcosO 0 —sinb
(b) 0 1 0
sing 0 cos 0
1 0 0
(c) 0 csB —-sinB
‘LU sin O cos 0
cos 0 sin 0 0\
(d) —sinf  cos® 0 |
o 0 i



19. 1 + 1 + 1 +...+—i-—
logzN logsN log4N 1°g100 N
fopmeh s R, (N#1)?

1
(a) ———
loglOO!N
1
(b) 10899!N
99
(c)
loglomN
@ 99
loggg!N

20. V3 +i, VB i=./—1 B, 1 AIH-TRH ET &

(a) 2[ws£+zsin—j
3
(b) 2[ms£+isin£)
6 6
(c) 4(oos§+isingJ
d) 4(cos£+ism E]
6 6

21, (1+2V30M+1-2V3x"% TR § IR
TGl 6 G ot 8 (aefienr & ame) 2
(a) 4
b) 5
(c) 6
(d) 11

SRCY-S-ADN

22,

23.

24.

(B=R)

ffafiad 4 8 #H-a1 98 ggom quils @ e

& 5° + 70 faars B 2
(a) 6

(b) 8

(e) 11

d) 12

qﬁx=l,—y+y2—y3+...31:iﬁq€[?ﬁﬁ,?ﬂ'i
ly| < 1%, a Fr=fafed # @ w9 g8 8 2

(2) x=11y

(b) x=1iy

(c) X=1-)|-Iy

(d) x=1—fy~

IR
cos 0 sing 0

A=|-sin® cos® 0| I I FT & ?
0 0 1
(cos® —sin® 0)

(a) sin 0 cos 0 0
. 0 0 i)
fcos® 0 —sin®

(b) 0 1 0
sin® 0 cos 0 )
1 0 0 )

(c) 0 cosB —sinB
\0 smo cos 0 )
cos 6 sinf 0

(d) —sin® cos® O
. 0 0 1)




25.

26.

27.

SRCY-S-ADN

If A is a 2 x 3 matrix andABi.saZXSmatrix,
then B must be a '

(a) 3 x5 matrix

(b) 5 x3 matrix

(e¢) 3 x2matrix

(d) 5 x2matrix

1 2
IfAz[ ]andA2—kA_12=o,whereI2
2 8 ,

is the 2 x 2 identity matrix, then what is the |-

value of k ?

(a) 4

(b) -4

() 8

d -8

What is the number of triangles that can be

formed by choosing the vertices from a set of

12 points in a plane, seven of which lie on the |

same straight line ?

(a) 185

(b) 175

(¢) 115

(d) 105

28.

29.

30.

(10-A)

What is C(n, r) + 2C(n, r — 1) + C(n, r — 2)
equal to ? .

(a) Cn+1r)
(b) Cn-1,r+1)
(c) Cln,r+1)

(d C+2,1)

Let [x] denote the greatest integer function.
What is the number of solutions of the
equation x> — 4x + [x] = 0 in the interval
[0,2]?

(a) Zero (No solution)

(b) One
(¢) Two
(d) Three

A survey of 850 students in a University yields
that 680 students like music and 215 like
dance. What is the least number of students

who like both music and dance ?

(a) 40
(b) 45
(@) 50
(d) 55



95. AR ATH 2 x 3 HACIE B N AB T 2 x 528 Cln, 1) +2CMm, r— 1) + Cn, r - 2) forarsh =

Sogg 2, A B s @ B 57

(a) 3x53ATE e = (a) Chn+1,r)
B 5x39=R ) Ch-1,r+1)
() 3x23g (¢ Cln,r+1)
(d) 5x2 IR @ C@+2,1)

26. aﬁA:[; Z]aﬁtA2-kA-12:o%,aﬁ29. m%ﬁﬁqmw%ﬁmwﬁﬁrﬁmm
I, 2 x 2 TCHHh AE B, W k1 T F1 7 ? ;?HEO;;T Podx+ X =0
& 8 @) T ()

S (b) TH
(© 8 () @
(d)

(d ~—8

_ _ |30 ue fovafoare™ 4 850 BT & U gayor § g7
27. U grae ° 12 fagani % v ay=y °, o @ g T 680 B Wi § v wEy § st
7org v & W W W @i g 215 B T H | I BHE hl REaq deAr T

TR 1Y S ATl Byt R wen o R 2 2 <t @t siv gor A1 R T § 0
() 185 (a) 40
O (b) 45
(e) 115 © 50
(d) 105 @ 55

SRCY-S-ADN (11-A)



31. What is the sum of all two-digit numbers
which when divided by 3 leave 2 as
the remainder ?

(a) 1565
(b) 1585
(e) 1635
(d) 1655

32. If 0 < a < 1, the value of log,,a is negative.
This is justified by
(a) Negative power of 10 is less than 1
(b) Negative power of 10 is between 0 and 1
(¢) Negative power of 10 is positive
(d) Negative power of 10 is negative

33. The third term of a GP is 3. What is the
product of the first five terms ?

(a) 216

(b) - 226

(¢) 243

(d) Cannot be determined due to
insufficient data

34. If x, 3/2, z are in AP; x, 3, z are in GP; then
which one of the following will be in HP ?

(a) x,86,z
(b) x4,z
() x,2 2
d x 1,z
SRCY-S-ADN

35.

36.

37.

(12 -&)

What is the value of the sum

11
Z(in +i%*1), where i= =17
n=2
(a) 1
(b) 2
(e) -2
(d 1+i
If sin x = %,siny: %,where0<x< 5

D<y< g,thenwhatis(x+y}equalto?

(a) =

(b)) /2

(¢ m/4

d 0

What is Ei0. 05— BINGIK equal to ?
cos 5x + cos 3x

(a) sinx

(b) cosx

(¢) tanx

(d) cotx



31. < 3kl arct TEft Wt wEeT W ATEA w2 | ]
Rt 3 frfm w0 W A ewmm 2 0 [0 WZ(WH““),WuJﬁ%,w
n=2

(a) 1565
(b) 1585 HH FIT 8 ?
(¢} 1635
(a) 1
(d 1655
b 2
32. 2Tﬁ0<a<1%,?ﬁlogmaEF[II'IT'I3{‘35'11'\:':@%| () -2
Ig THETd § I
d 1+
(a) 10 O 9T 18 FH 8
(b) 10 <Y FeoTrenh T 0 3T 16 = & B
(¢) 10 h FUMTcHe =T EHTCHS & 36. 'qﬁsinx=%,sinY=%,qﬁ0<X<%,
(d) 10 FUMEHS A A 8 0<y<%§,a‘r(x+y)ﬁm%w%?

33, Tt iR Aoft (GP) 1 fmT Ug 3 ' | 36k (a) =

T G UG} T USRS FT 7 2
b) n/2
(a) 216
(b) 226 (c) m/4
(¢) 243 Wi 6
(d) oT9aTd ad % o f[uife T8 e o
HehdT
' 37 sin 5% — sin 3x %ﬂ%ﬁw%‘?
34. fE x, 3/2, z WA A1 (AP)H ©; x, 3, 2 OIER| - cos 5% + cos 3x
?')l-gﬂ- (GP}'E{% ﬁﬁg&%ﬂﬁﬁ:@:mm
’ ninrat = NG )
Fces Aft (HP) H 8 2 () ‘sinx
(a) x,6,2z (b) cosx
() x4,z (¢) tanx
() =x2,%
(d) cotx
d x 1,z

SRCY-S-ADN (13-A)




38. What is sin 105° + cos 105° equal to ?
(a.) sin 50°
(b) cos 50°
© 1/v2
d o
39. In a triangle ABC if a=2, b=3 and
sin A = 2/3, then'what is angle B equal to ?
(a) m/4
(b n/2
() m/3
(d n/6
40. What is the principal value of
sin'.1 [sin ?E) 7
3
(a) m/4
(b) n/2
() =/3
(d) 2n/3
SRCY-S-ADN

41.

42,

(14-A)

If x, x —y and x + y are the angles of a triangle

(not an equilateral triangle) such that

tan (x — y), tan x and tan (x + y) are in GP,

then what is x equal to ?

(a) m/4
(b) 11:/3
() /6
(d =/2

ABC is a triangle inscribed in a circle with
centre O. Let @ = £ BAC, where 45° < o < 90°.

Let p = £ BOC. Which one of the following is

correct ?
< 2
G oo e 1 i;an2 o
l+tan®a
1+tan?a
(b) cosP= 3
l1-tan“«
(¢) cosP= ,_gtan_(;
1+tan”a

(d) sinp=2sin2a




38. sin 105° +cos 105° formeh e 8 2 41.
(a) sin 50°
(b)  cos 50°
© 12
@ 0
39. UH fys ABC H, At a=2 b=3 3R
sin A = 2/3 8, I SI01 B fohash swrew & 2
(a) n/4
® w2
42.
(¢) /3
(d /6
40. .sin_l (3111 %) 1 4G W 1R ?
(a) m/4
(b) /2
(¢ n/3
(d 2n/3
SRCY-S-ADN (16-A)

afe ok By (S wveg Bys 6 7) & B
xx—ySﬂIXerWW%ﬁFtan(x—y)
tan x 3 tan (x + y) o Aoft (GP) | 7, ?ﬁx
fopas s B 7

(a) /4
(b) 7/3
(¢) n/6
d m/2

Hz fag 0 a9 ™ g9 F o wH By

ABC 2 | T o = ~ BAC, FET
45° < . < 90° % | W ¢ g = 2 BOC B |
fefafead a s g 2 2
2

Gely - oo = l—tangu

1+tan“a
Wl R 1+ tan“a

1-tan? o

2tana
(¢) cosP=

? 1+tan2a

(d) sin{_i:2sin2a



43. 1If a flag-staff of 6 m height placed on the top of 46, If sin (x + y) B b Haad ot tan x
a tower throws a shadow of 2+/3 m along the| sin(x-y) a-b’ tany
ground, then what is the angle that the sun
makes with the ground ? equal to ?

(a) 60°
(a) %
(b) 45°
le) 380° ® 2
a
(d) 15°
© a+b
1 3 a-b
44, Whatis tan™! (Z] +tan! [-{—)) equal to ?
b
(@ 0 a+b
(b) n/4
() /3 47. 1If sin o + sin B = 0 = cos O + cos P, where
d) =/2 0 < B < o < 27, then which one of the following
is correct ?

45. A spherical balloon of radius r subtends an @) d= R =P
angle o at the eye of an observer, while the
angle of elevation of its centre is 8. What is the (b) a=mn+p
height of the centre of the balloon (neglecting
the height of the observer) ? (¢ a=2n-f
() 1;31"[1 B (d) 200=m + 2B

; a)
sin| —
-
(b) r sin B 48. Suppose cos A is given. If only one value of
sin (E’E) coS [%J is possible, then A must be
4
(B (a) An odd multiple of 90°
. rsin ( J
() = ;
sin o (b) A multiple of 90°
3 W - (¢)  An odd multiple of 180°
(d)
sin [%) (d) A multiple of 180°

SRCY-S-ADN (16-A)




43. ﬂﬁ%@ﬁ‘lﬂ(ﬁﬂ()%?ﬁéﬂ?ﬂﬁﬁ@ﬁmm afe sin(x+y) a+b 3 @ tanx

9 wgece F 9Udd W 2 /3 m Sl SR gSd! sin(x-y) a-b tany
2, A g % 9Uad % "1y S5 A1 v Sl qH S 8 ?
fopa 2 2
= (a) g
(a) 60° b
(b) 45°
m 2
() 30° a
(d) 15° (©) a+b
a—b
44. tan"1[~41~ + tan [;]%H%aﬂat%? i a—b
: a+b
(a) O
(b) m/4
(¢c) 7/3 47. I sin o + sin f = 0 = cos o + cos B @
v 0<B<a<zn% a1 Fr=afafas & @ #=9-an o
@ /2 22

45. 1 oo amen ws TemRR Teemw, TR S (@ oa=n-p
@ T R o ARG HAT B, ek Hb

1 IFE BV B2 | TN b healeg
# T = B (JerE I TS B A ST () H=Or-p

(b) a=mn+p

d §L) ?
(d) 20=m+2p
or rsinf}
ﬁn[gw
2)
(b) rsin p 48. WH T cos A feam mam & 1 afd cos (%]EET
sG] S s T i R, A AR A R
% (a) 90°%h Ueh o9 U
rsin[g]
(c) = (b) 90° %1 TH IO
g reina (c) 180° <l Ueh ferwd Ui
Si“[g] (d) 180° T T U

SRCY-S-ADN (17 -A)




49,

50.

SRCY-S-ADN

If cos o + cos B + cos y = 0, where 0 < o < %,

0<B< %,O<YS %,then what is the value of

sin o + sin B + siny ?
(a) O

(b) 3

() —

(d)

The maximum value of
sin (x - E] + cos (x + E) , where x € [0, E) ;
5 5 2

is attained at

(a) —
b)) —
fe) —

(d)

oA

51.

52.

23.

(18—-A)

What is the distance between the points which
divide the line segment joining (4, 3) and (5, 7)
internally and externally in the ratio2: 3 ?

12417
5

13V17
5

(a)

(b)

V17
(e) —
5

What is the angle between the straight

3

lines (m?—-mn)y = (mn +n?) x + n and

(mn +m?) y = (mn —n? x + m?, wherem >n ?

' b

(a) tan’! %
; m° +n

(b) ‘tan’! —4212“24
\m* —n

209

(¢) tan! %
(m® +n

(d) 45°

What is the equation of the straight line
cutting off an intercept 2 from the negative
direction of y-axis and inclined at 30° with the
positive direction of x-axis ?

(a) X—2'\/§Y—3\/§=0
(b x+243y-342 =0
() x+3y-243 =0
(d x-+3y-243 =0




b

49, ?’Iﬁcosa+cos]3+cosy=0,\_r|ﬁ0<as
O<Bs =, 0<y=s =
p 5 Y

g

sina+sin[3+sin7$lﬂ'l7{w%?
() 0

(b) 3

(974
=l

(c)

(=]
&,

(d)

50.

T Hfrepay W ITCd BT 8

(a)

(b)

(e)

(d) T

b A

SRCY-S-ADN

sin (x+%] + CcoS [x+-g-),318? g (0, -;EJ %,

T |51.
2!

52.

53.

(19-A)

3 fargett & e 6 gt F B A (4, 3) 3K
(5, 7) I ATS 9ol WWTES H Tdieh 3N =0el
®7H 2:3% gurd § fqwfoa ed & 2

12417
5

1317
5

(a)

(b)
J17
() —
5
@ &7
5
T [T (mz—mn)y=(mn+n2)x+n33ﬂ'(

(mn+m2)y:(mn—n2)x+m3,ﬁ|€fm>n%,

% ofi= =7 I T R 2

: ( 2mn )
(a) tan™!
m?2 +n?2
2
() tan™! | IR
m —1n )
i 2_2
(¢) tan™? 421 n4
\‘l]'l + 1
(d) 45°

39 T @1 HT FHIO w R ST y-378] Shl
FOMcHs fC9m ¥ 2 1 IJd:ES Hedl 8. 3
x-AG hl gATHSE @ Wi 30° W g g
27
(a) x-2V8y-342 =0
x+2/3y-34J2 =0
X + ﬁy—ZJg:{]-

x—\fgy—.‘;’\/_ =0

(b)
(c)

(d)



54, What is the equation of the line passing
through the point of intersection of the lines
x+2y—-3=0and 2x —y + 5 = 0 and parallel

"totheline y—x+10=07?
(a) Tx—-Ty+18=0
(b) bHx—Ty+18=0
(¢c) bx—-5y+18=0
(d) x-y+5=0
55. Consider the following statements :
L The length p of the perpendicular from
the origin to the line ax + by = ¢ satisfies
2
the relation p? = 2l
a% 4 p2
2.  The length p of the perpendicular from |
the origin to the line E BOE oy
satisfies the relation % = —12- + %
P a b
3. The length p of the perpendicular from
the origin to the line y = mx + ¢ satisfies
2 2
the relation LQ = I-i-—m2+_c z
P c
Which of the above is/are correct ?
(@) 1,2and 3
(b) 1lonly
(¢) 1land2only
(d) 2only
SRCY-S-ADN

56.

57.

(20-A)

What is the equation of the ellipse whose

vertices are (+ 5, 0) and foci are at (+ 4,0) ?

2 2
()~ L
25 9
2 i
(59 et O e |
16 9
2 2
(e -3y S |
95 = 16
2 2
) e e 0
9 ' 25

What is the equation of the straight line
passing through the point (2, 3) and making
an intercept on the positive y-axis equal to

twice its intercept on the positive x-axis ?
(a) "Wxy=h
b)) 2x+y=7
) x+2y=T7

d 2x-y=1




3 W KT gHE F R S @il

54.

x+2y—3=03f'l’-[2){—y+5=03§Elﬁ1ﬁ3'|-'élr_g'5
%W313.1w|%3ﬁ'{1@y—x+10=0%
I B ?
(@ Tx-Ty+18=0
(b) b6x—-T7y+18=0
(c) bx—-by+18=0
(d x-y+5=0

55. Trefafad suEt w faar hifsw .

1. {a-ﬁg@i@ ax + by = ¢ W @« Hl
s p, WEY p’= 2022 H HI

a“+b
FAl B |
_ _— _

2. Hefg ¥ @l —#i=l T T
o p, Y - L @ g
HA B |

3. @T—ﬁ%@@y:m+cm"€iﬁ?ﬁm

U :
p, GEY < e ! He Bl
R

SRfed § W wA/8 T 2/2 0

(a) 1,233

(b) Had 1

(¢) had 13X 2

(d) had 2

SRCY-S-ADN

56.

57.

(81 —~AD

34 qrega &1 e o7 @ s ol 5, 0)
B o lmf (14, 00w E 2

2 2
- —
25 9

2 2
X Ve
R SRR, |
(b) 16+9
2 2
W =wdeal
25 16
2 2
X y
) e |
(d) 9+25

34 | W e o g S g 2, 3) @
TR TR B, SN ISy W IHH
AW, YIS -3 T Iqh TGS hl
AT ST ' 2

(a) 2x+y=5

(b) 2x+y=7

() x+2y=7
(d 2x-y=1



58.

59.

. 60.

SRCY-S-ADN

Let the coordinates of the points A, B, C be

(1, 8,4),(0,-11, 4) and (2, — 3, 1) respectively.

What are the coordinates of the point D which
is the foot of the perpendicular from A on BC ?

(a) (3,4,-2)

(b) (4,-2,5)

() (4,5,-2)

(d) (2,4,5)

What is the equation of the plane passing

through the points (-2, 6, —6), (-3, 10, —9)

and (-5,0,-6)7
(a) 2x—y-2z=2
(b) 2x+yf3z=3
(c) x+y+z;6

(d x-y-z=3

A sphere of constant radius r through the

origin intersects the coordinate axes in A, B

~and C. What is the locus of the centroid of the

triangle ABC ?

(a) x2+y2+lzz=r2

(b) )(2+y2+22=4:r2
© 9G2+y%+2%) =42

(d) 3(x2+y%+2%)=2r2

61.

62.

63.

(22-A)

The coordinates of the vertices P, Q and R of a
triangle PQR are (1, -1, 1), (3, -2, 2) and
(0, 2, 6) respectively. If £ RQP = 6, then what

is £ PRQ equal to ?
(a) 30°+6
(b) 45°-0
(c) 60° —
(d 90°-0

The perpendiculars that fall from any point of

" the straight line 2x + 1ly = 5 upon the two

straight lines 24x + 7y = 20 and 4x — 3y = 2

are

(a) 12 and 4 respectively
(b) 11 and 5 respectively
(¢) Equal to each other

(d) Not equal to each other

The equatibn of the line, when the poftion of it

intercepted between the axes is divided by the

point (2, 3) in the ratio of 3 : 2, is

(a) Either x+y=4 or 9x+y=12
(b) Either x +y=5 or 4x+ 9y =30
(c) Either x+y=4 or x+ 9y =12

(d) Either x+y=5 or 9x + 4y = 30




58. WM wfifwT famga A,Baﬂio%ﬁésﬁ%m:

59.

60.

" SRCY-S-ADN

(1, 8, 4), (0, - 11, 4) 3 (2, -3, D F | 39 fog

D e #=m ¥ T AW BC 9 owUE B ?
(a) (3,4,-2)

() (4,-2,5)

© (4,5,—2)

@ (2,4,5)

fogall (-2,6,-6), (-38,10,-9) 3
(= 5,0,—6) " BHL T I THAA 61
Trfishor @ 8 2

(a) 2x-y-2z=2

(b) 2x+y+3z=3

(¢) x+y+z=6

(d)

X-y—-2=3

qal-forg & iRt oA aren e (3rR) B
r 1 Uk T f433me el & A, B 3 ¢ W
Hed 2 | s ABC % S o femgue o
27

2 2 2

(a) x +y2+z =7

M  x2+ y2 + 22 = 4r®
(€  9x%+y?+22) =4r

d) 3x%+y%+20)=2r"

61.

62.

63.

(23-A)

% a PQR % 3wt P, Q 3t R % fderes
A (1,-1,1),(3,-2,2)3M (0,2,6) 8 | Ife
ZRQP =078, d £ PRQ frdesh su=t 8 2

(a) 30°+60
(b) 45°-0
() 60°-6
(d) 90°-86

o W 2x + 11y = 5 % foreft oft fog &, @

;W}@T@ﬁ 24x + Ty = 20 3T 4x — 3y = 2 W

(a) SREST: 12 3T 4
(b) THHI: 11378 5
() Uh-gHL & S

(d) TH-GE  FE TEI

39 [T h1 R 41 & e sre & o o
Hd:gfsa 31w, fomg (2,3) % g1 3: 2% T
¥ fawfa gar 2 2

() IMA x+y=437 9x +y=12
(b) I A x+y=>53T 4x + 9y = 30
(¢) MM x+y=43T x+9y=12

(d) I x+y=53 9x +4y =30




65

64. What is the distance between the straight
lines 3x + 4y =9 and 6x+8y=157
(a) 3/2
(b)  8/10
(c) 6
(d 5
What is the equation to the sphere whose
centre is at (- 2, 3, 4) and radius is 6 units ?
(a) x2+y2+z2+4x—6y—83=7
b x2+y°+22+6x—-4y-82=7
(c) x2+y2+z2+4x—6y—82:=4
(d x2+y°+z2+4x+6y+8z=4
— —> s
66. If a and b are vectors such that | a | = 2,
— =i — A A A
| b|=7and a x b =3i +2j +6k, then
: > —
what is the acute angle between a and b ?
(a)" " 39°
(b)  45°
(c) 60°
(d) 90°
SRCY-S-ADN

67.

68.

69.

(24-A)

(d)

—¥ —>
Let p and q. be the position vectors of the

points P and Q respectively with respect to
origin O. The points R and S divide PQ
internally and externally respectively in the

= =
ratio 2 : 3. If OR and OS are perpendicular,
then which one of the following is correct ?

(a) 9p?=4q>

(b)  4p? =9q>

(c) 9p=4qg

(d) 4p=9q

What is the moment about the point

A A A N A
i +2j — k of a force represented by 31 + k

A A A
acting through the point 21 — j +3k ?
A A A
(a) -31+11j +9k

A A A
() 8i+2j +9k

: A A A
(¢ 3i+4j+9k

A
1

>

N
+ ]+

Lt — e !
If a+2b+3c¢c =0 and

e SRR i =
ax b+ b xoe¢ + ¢ %X a

then what is the value of L ?

= -
=}»(b)< c

),

(a) 2
(b) 3
(¢c) 4
(d 6



64. W X@ISA 3x + 4y =9 I 6x+ 8y = 15 % g7, wWw o qe-fag 0 F wme, Rrgalt p sk Q
it ot gt o 2 2 ¥ feufy afw wow: p s o # | fg R iR
S, PQ Wl STaieh X 918 €9 ¥ HAW: 2:3 %

() 3/2 . . >
s W fewifoa & & | 9§ OR 3R 08
. TR w9 &, qf Aefefiga § @ S ad g 2
(b) 3/10
(a) 9p?=4q®
(c) 6 P
3 (b) 4p2=9q2
@ 5
(¢) 9p=4q
(d) 4p=9q
65. IE Tl T WHISHOT T & et g (- 2, 3, 4) -
A A : A A A
W B i B e gfie B 2 68. 3i + k ¥ fiefig sat, W fog 2i - j +3k @
. A A N
FRRA B, g i +2) — k % g ameef s
(a) x2+y2+22+4x-6y—-82=7 29
(b) x*+y°+22+6x—-4y—8z=17 (a) ;3?.,_11‘}.;.9&
() x2+y?+22+4x-6y—8z=4 ® 34 +23 +9k
(d) X2+y2+zz+-4x+.6y+83=4 (© 3? +43 +9Ak
N N N
d 1+j)+k
= - . —
66. A a 3R b WaRkw 6 |a| =2 & dle
=5 - A A i : ; = 3ﬁ'(
|b|=73ﬂ1?fxb=3’i\+zj+6k%,a‘r69 A a +2b +3¢ =0
e - - —b> T; e H)(—g e
a 3R b & off= @1 DI =12 ? axb+bxe+eka =3(h % ¢l
A AHF A TR ?
30°
Y (a) 2
(b) 45° b) 8
(c) 60° © 4
. (d) 6
d 90°

SRCY-S-ADN (25-A)




— - .
If the vectors k and A are parallel to each

70'
- =
other, then whatis kk x A equal to ?
o
(a)  k*A
2
(b) 0
-y
(0 -kZA
=y
(d) A
71. Which one of the following is correct in
respect of the function f: R — R’ defined as
fix) = ix +1|7?
(@) fix?) = [ftx)?
(b) fi|x])= |fix}|
() fix+y)=1x +1fy)
(d) None of the above
72. Suppose f: R — R is defined by
2
flx) = — 5 - What is the range of the
1+x
function ?
(a) [0,1)
(b) [0, 1]
(c) (0, 1]
(d) (0, 1)
SRCY-S-ADN

73.

74.

75.

(26—A)

If fix)= |x| + |x—1]|, then which one of the
following is correct ?

(a) flx)iscontinuousatx=0andx=1

(b) f(x) is continuous at x = 0 but not at
x=1
(e) flx) is continuous at x = 1 but not at

x=0

(d) f(x) is neither continuous at x = 0 nor at
=

Consider the function

x?In|x| x=#0
f(x) = ;
0 x=0
What is f(0) equal to ?
(a) O
(b) 1
e -1

(d) It does not exist

What is the area of the region bounded by the

parabolas y% = 6 (x — 1) and y? = 3x ?

J6
(a) ?

26
3

4.6
3

56
3

(b)

(c)

(d)




70. af ARW ¥ o A THW F wAcm §, @78 I Ko = x| + [x - 1] B, @ Frfafed &
Kk x A Tro® sUstR ? FHI-AT T R 2
(a) fix), x=03M x=1 Tad 8

_)
2
W kA (b) fix), x =0T d THad &, eIfehd x = 1 T &
(b) 5) (© fix), x=19dl Hdd &, Sl x = 0 T T2
Z @ fx), T x=0W TG E ALA B x=1%
(@@ -k2A
—}
@ a 74, e
x%in|x| x=0
f(x) = 3 fa=mr ifSe |
71. BeF f: R— R, W&l fix) = 1| % T O =
v O T b AR e et £/(0) Forer ware 3 2
gfenfya 8, & ded A F=fafaa 3 @ s
a8 2 ' (a) O
b 1
(a) flx?) = [flx)]? w0
c) -1

(b)) f(|x]|)=|fix)|

(d) S Afcaey 781 2
() flx+y)=1fx)+1y)

(d) IudF 4 9 HIE T _
75. y2 = 6 (x — 1) 3 y2 = 3x g1 Ifiwg &
2 W ATHA TR ?
72. WH ®fWC f: R - R, fix) = 1" > % B0
+:X
TR 2 | 39 Hor & IRE () & 8 2 (a) %
(a) [0,1)
' i E
3
(b) [0, 1]
_ 46
() ——
@© (0,1 3
@ 0,1 @ 58
3

SRCY-S-ADN (27-A)



Consider the following information for the
next three (03) items that follow :

Three sides of a trapezium are each equal to

6 cm. Let o e (0, g) be the angle between a

pair of adjacent sides.

76. If the area of the trapezium is the maximum
possible, then what is o. equal to ?
T
(a) E
n
(b) -
n
(e) E
2n
d i)
(d) 5
77. If the area of the trapezium is maximum,
what is the length of the fourth side ?
(a) 8cm
(b) 9cem
(e) 10 em
. (d) 12cm
78. What is the maximum area of the trapezium ?
(a) 3643 cm?
(b) 303 em?
(¢ 2743 cm?
(d) 243 cm?
SRCY-S-ADN

79.

80.

81.

(28—A)

T

What is I e* sin xdx equalto?

0
e® 41
(a) 5
al=]
b
(b) 7

(el el +1

e +1
d
(d) 2
x2 -9
If fix) = > , X # 3 is continuous at
x°-2x-3
x = 3, then which one of the following is
" correct ?
(a) f3)=0
(b) . £3) =15
(¢ £3)=3
d f3)=-15
e
What is j xIlnxdx equalto?
1l
e+1
(a) 1
2
e +1
b
(b) 4
e-1
)
Le; 1
2
-1
d e
(d) 1



HT T aret /7 (03) T¥AT & (oo Ao x
AT T AT Ty : 79. J‘e" sin x dx, TRER SR 2 2 -
U HAE i A9 Yol sHeR & R T & -
A% H TR 6em B | AW HAfSw
ae(o,g]mwﬁ%@w%aﬁaw @ & *1
_ 2
I B |
b) a¥ -1
76. Iic THCE T B GHIE AR B, d o .
Topger S=R 2 7
() e™ +1
(a) = n
8 @ e +1
, 4
'y
®
x%-9 o
" 80. IR f(x)=2————,EIETx¢3%,x:3‘H
(c) 3 x“ -2x-3
Tad &, @t Fafafea d @ sma adt 2 2
@ 2—: (a) f(3)=0
(b) f(3)=15
77. G wEe H AARe Afteeam @, df =eft o T
& AT HT B 2
d) f(8)=-15
(a) 8cm
(b) 9em ;
) 10cm 81. J.xlnxdx,ﬁ?ﬂa?a'{lﬁ{%?
(d) 12 cm ]
78. WWSE 1 ANTHA STBA T 2 ? (a) ell
(a) 36+/3 cm? i e? 41
| 4
(b) 80+/3 cm? .
(c) e;
(e) 27J§cm2
2
e” -1
(d) 243 cm? ) 4

SRCY-S-ADN (29-A)




V2

82. Whatis J. [x?} dx equal to (where [.] is the

0
greatest integer function) ?

(a) 2 -1
() 1—+2
(@ 2(~2 -1)
d 3 -1

83. What is the maximum value of
16 sin 0 — 12 sin% 0 ?

(a) 3/4
(b) 4/3
(¢) 16/3
(d 4

84, If f: R — S defined by

filx) =4 sin x — 3 cos x + 1 is onto, then what is

S equal to ?
(a) [-5,5]
(b) (-5,5)
© (-4,6)
@ (4,6
SRCY-S-ADN

85.

86.

87.

(30-A)

For f to be a function, what is the domain of f,

2 1

if fix) = —Jh(l:_x ?
(@) (=2,0)

() (0, )

(€) (=oo,)

(d) (=e,0]

What is the solution of the differential
equationx dy—ydx=07?

fa)  Xy=ic

d =x-y=c

What is the derivative of the function

f(x) = €' * + In (sec x) — e * at x = %I— ?
(a') e/2

(b) e

() 2e

(d)  4e



Jz 85. R fUH BoH 8, dl £1 Tid (SAA) 41 8 AR
82. I[x%d;;,%a%w%(aﬁ[.lww s e B9

Jix|-x
0
FAT B) ?
) (a) (=c,0)
(@ 2 -1
(b) (0, )
b 1-42
(e) (—eo, 00)
() 22 -1)
(d (==, 0]
d +3-1

86. 3TFhHeT HHIHIT x dy —y dx = 0 1 B 1 & ?
83. 16sin0— 12 sin20 T ATIFHAT T FAT 2 2

(a) =xy=c
(a) 3/4
(b)  4/3 - eth
(e) 16/3 () x+y=c
d 4 (d =x-y=c

; 87. Wftx)=eta“+zn(secx)—emwx:gm
84, EI'Fq’f:R—)S,GETf(x)=43mx~3cosx+1, FR o
AT=BICH &7, al S frgs =T § 2
(a) ef2
® (=5,5) b e
() (-4,6) ) 2
d [-4,6] ) de

SRCY-S-ADN (31-A)




Which one of the following differential

88.
equations has a periodic solution ? L.
2
(a) 4 : +ux =0
dt”
2 :
(b) 9-7); —ux=0
dt
dx
( — +ut=0
¢c) X T [
dx
d) — +uxt=0
( o Ux
where p > 0.
92.
89. What is the period of the function fix) = sin x ?
(a) m/f4
(b) m/2
{e) 1
(d) 2n
90. Whatis dx equal to ?
2% -1
(a) n(2*-1)+c
| 93.
3! -X
(b) In(1-27%) g
In2
() In(9™* 1) -
' 2in2
-X
) In(1+2 }+c
n2
SRCY-S-ADN (32-A)

The order and degree of the differential

.7

equation y’=4a(x-a), where ‘@’ is an

arbitrary constant, are respectively

(a) 1,2
(b0 2.
() 7 1202
(d) ‘511
nf4
What is the value of (sin x —tan x) dx ?

1 1
(@) ——+lInl—
&+ ()
1
by —
J2
(¢ .0
d V2
b b
If ‘[x3dx=0 and J.xzdx=§,then
a a

what are the values of a and b respectively ?

(a) -1,1
(b) -~ 1sd
() 0,0
d 2,-2



B8 ?
12
(a) %t—;(+ux=0

(b) -d—i—ux=0

dt?

dx

— t=0
(c) th + U
(d) % + uxt =0

TE u>0 B |

89, e f(x) = sin x o1 ATIAHIS FT & ?

(a) mf4
(b) w2
(00 =
(d) 2=n

90. g% -
9% _1

(@) n2*-D+c

in(1-27%)
—_— 4

b
(b) in2

c

2= =1)

() 9in 2

In(1+27%)
— %

d
@ in 2

SRCY-S-ADN

92,

(33-A)

91. y2=4a(x—a),as?"a’@éﬁém%,%

Fahel GHIHLT 1 Hife (3ATER) i ura (feft)
EFH‘\?T%

(a)

(b)

(c)

(d)

/4

- /4

(a)

(b)

| (e)

(d)

1,2
5
2,2

4 |

(sin x — tan x) dx <1 HIF 9971 8 ?

b b
93. aﬁj.x‘ﬂdx:oaﬂxjx?dx:%%,a\

aaﬂtab% T SHHIT: AT %a?

(a)
(b)

(c)

(d) -

-1,1

1: 11

0,0




1
94, Whatis'j x(1-x)°dx equalto?
0
(@ 1/110
(b) 1/132
(¢) 1/148
) 1/240
95. Whatis lim t_anx equal to ?
x—0 sin2x
(a) 1/2
R |
(¢) 2
(d) Limit does not exist
06, . Whatis lim V2= T3B—V2x equal to ?
h—0 2h -
1
(a)
2/2x
3
) —=
V2x
3
(c)
2/2x
3
(d)
4+2x
SRCY-S-ADN

97.

98.

1 99.

(34-A)

If f(x) is an even function, where fix) # 0, then
which one of the following is ¢orrect ? ,

(a) f(x)is an even fun_ction

(b) f'(x)is an odd function

(c) ‘ f'(x) may be an even or odd function
depending on the type of fupction

(d)_ f'(x) is a constant function

dy

X

2 y
If y = e sin 2x, then what is atx=m

equal to ?

2
(@ (1+m e

2
(b) 2me™
2
() 2"
2
(d) e"
What is the solution of

(1+2x)dy—(1-2y)dx=0?

(@ x-y-2xy=c
(b) y-x-2xy=c¢
(¢) y+x-2xy=c
d x+y+2xy=c



] |97, AR Rx) TH W o &, FE fix) = 0 B, @
94, I x(1-x)°dx, T s=T R ? freferfaa ® @ S ad 2 2
0
(a) f'(x)TH BT &
(@ 1/110
(b) f'(x) wm wa7 2
(b) 1/132
(¢) f'(x) 99 =1 TA99 Hei B Gehal 8, S o
(c) 1/148 % R 91 3 e 2
) 1/240 (d) f'(x) TH I FeM &
95. lim t,a“;,ﬁﬁaézw%? .
S £2X
i 98. AR y= e* sin 2x %,Fﬁj—yﬁ}(:nwm,
(a) 1/2 foraeh o 2 2
() 1 @) CLERET
(¢) 2
6 (b) 2neth
(d) AT STfeae TR R 2
() 2"
@ v
96. lim "2“311_@,%%3?@{%?
h—0 2h
(a) 1
2/2x _ 99. (1+2x)dy—(1-2y)dx=0, 5 & 5T & ?
B -t 6 T—g—Dapst
J2x
3 (b)) y-x-2xy=c
(¢)
22x
(c) y+x-2xy=c
3
(d)
4ox (d x+y+2xy=c
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100. What are the order and degree, respectively, of

101.

102.

the differential equation

] 2
ia_):. o y4 ik [Elz ]5 ?
dx3 | . dx)

(a) 4,5

(b) 11128 |

(e): 132

(d) 5,4

In a Binomial distribution, the mean is three

times its variance. What is the probability of
exactly 3 successes out of 5 trials ?

(a) 80/243
(b)  40/243
(c) 20/243
(d) 10/243

Consider the following statements :

1. P(A UB)=P(A)+PB)-P(A NB)

2. P(ANB)=P®B)-P(ANB)

3. PANB)=PB)PA|B)

Which of the above statements are correct ?

(a) 1land2only
(b) 1and3only
(¢) 2and 3 only
(d 1,2and3
SRCY-S-ADN (36

il

103.

104.

105.

If the correlation coefficient between x and y is
0+6, covariance is 27 and variance of y is 25,

then what is the variance of x ?

(a) 9/5
(b) 81/26
@ 9

(d 81

The probabilities that a student will solve
Question A and Question B are 04 and 05
respectively. What is the probability that he

solves at least one of the two questions ?

(a) 06
(b) 07
() 08
(d 09
Let X be the mean of x,, xé, Xgy ey Ko If

x; = a + cy; for some constants a and c, then

what will be the mean of y;, vy, ¥3, .-, ¥, ?

(a) a+cXx
(b) a~1§
c
(c) l)_:ma
c
) X—a
c



101.

SRCY-S-ADN

- 100. 3GFHA  GHEHT {fl]i yi (SIXJS, £

dx® dx
(a) 4,5
(b) 2,3
() 3,2
(d 5,4

ws fgug sea #, mre, weer & f7 T (o)
|5 wE (i) # ¥ Jdendie 3 ahaan

3 Y TR T 8 2
(a) 80/243
(b)  40/243
(¢) 20/243

(d) 10/243

102. F=fafga suet o fa=m $ifso .

1. P(A UB)=P(A)+PB)-P(A NB)

2. P(ANB)=P®B)-P(ANB)

3. PANB)=P@B)PA|B)
30 1 @ B HuT Tl 2
FHaer 131 2

had 130K 3
Fad 2 3 3

1,23 3

(a)

(b)

(e)

(d)

103. AR x 3N y & &9 wEEeY NF 06 7,

104,

105.

(37-A)

HEYEWT 27 B M y 1 TEOT 25 B, @ x H
TET AT R 2

(a) 9/5
(b) 81/25
() 9

(d) 81

T feremefi grr w97 A 37 W¥F B W & W UH
! TIRRATT FAST: 0-4 31X 0-5 ® | &1 WIfahan
? T 98 991 wedl § @ F9-8-F9 UF F 2 W
T 2 '

(a) 06

(b) 07

(e) 08

(d 09

H'I:l?'ﬁﬁrﬂ!xl, Xgs Xgs s Xy ol HIYY X % |
I x; = a + cy; &, &l a 3R ¢ FE =R &, A
Y]_:YQ:yBa ...,ynm ” rlwa-rn?

a+cXx

(a)

(b) a—li
c

(c)

0| -
»l
|

)

Ml
[
w

(d)




106. Consider the following statements :

1.  If the correlation coefficient T ® 0, then
the two lines of regression are parallel to
each other.

2. If the correlation coefficient r . = +1,
then the two lines of regression are
perpendicular to each other.

Which of the above statements is/are correct ?

(a) 1only

(b) 2 only

(¢) Both1land?2

(d) Neither 1 nor 2

107. If 4x -5y + 33 =0 and 20x — 9y = 107 are
two lines of regression, then what are the
values of X and y respectively ?

(a) 12 and 18

(b) 18 and 12

(¢c) 13 and 17

(d) 17 and 13

SRCY-S-ADN

108. Consider the following statements :

109.

(38-A)

11 Mean is independent of change in scale

and change in origin.

2. Variance is independent of change in

scale but not in origin.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2 only

(¢) Both1land?2
(d) Neither 1 nor 2

Consider the following statements :

1. The sum of deviations from mean is

always zero.

2. The sum of absclute deviations is

minimum when taken around median.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2 only

(¢) Both1land?2
(d) Neither 1 nor 2




106. F=fdfaa saai w famr hifsu -

I o weEd T r,-0 ¥, @ 2N

2.

TSRV 1@ Uh-gE 6 HHi 8 |

ﬁém@ijmrw=+1iiﬁaﬁ

T (@Y 90 e & |

o ol & & w-E /A w2/ 0
(a) <HaeT 1

(b) haeT 2

(c)

1 3 2 i

@ AALIE L

107. A 4x — 5y + 33 = 0 3T 20x — 9y = 107 &
ameEm Y €, @ x 3y % ue e

87

(a)

(b)

()

(d)

12 31 18
18 3 12
13 3T 17

17 37T 13
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109.

108. Fr=fafaa st w famm $ifsw .

1. Wied, AT9sRH H Seard 3R g § dede &
=ad 2 |

2 SERU, A5 W Seerd 8 T99d ® 9 g9

W 9gaE ¥ T |
I9gad | B HH-AT/H HUF w8 7/8 2
(a) A 1
(b) Had 2
(¢) 13K 23Mi

d 1,982

frfafea oAl w foam Fifv

1;1maﬁ%%ﬁanﬂmﬁmhqa@m
2 |

2. Truw fomert #1 deer @ =Ean i
39 3 Aifedes & fow sma #

9 YA § & BT/ T R/R 0
(a) e 1

(b) Haw 2

(c) 13K 28M

@ TM1LTIH2




110.

111.

112,
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What is the median of the numbers
4-6, 0, 93, —4-8, 76, 23, 127, 3-5, 82, 61,
3-9, 527

(a) 38

(b) 49
{e) - BT

(d 60

In a test in Mathematics, 20% of the students

obtained “first class”. If the data are

represented by a Pie-Chart, what is the

central angle corresponding to “first class” ?

(@)~ 207

(b) 36°

(e) - T2°

(d) 144°

The mean and standard deviation of a set of
values are 5 and 2 respectively. If 5 is added to
each value, then what is the coefficient of

variation for the new set of values ?

fa) “ 10

(b) 20
(c) 40

(d 70

113.

114.

115.

(40—-A)

A train covers the first 5 km of its journey at a
speed of 30 km/hr and the next 15 km at a
speed of 45 km/hr. What is the average speed

of the train ?

(a) 35km/hr
(b) 875 km/hr
(¢) 395 km/hr
(d) 40 km/hr

Two fair dice are 7rolled. What is the

probability of getting a sum of 7 ?

(a) 1/36
b 1/6

© 712
) 5/12

If A and B are two events such that
2P(A) = 3P(B), where 0 < P(A) < P(B) < 1, then

which one of the following is correct ?

(a) P(A|B)<P(B|A)<P(ANB)
(b P(ANB)<P®B|A) <PA|B)
(¢) P(B|A)<P(A|B)<PA NB)
(d P(ANB)<PA|B)<PB|A)



110. GE3T 46, 0, 93, — 4.8, 7-6, 2:3, 127, 35, 82, | 118. TH TS AT TN % F49 5 km, 30 knvhr
61, 39, 52 T TITEHT FT 2 2 hl =T " 3R I 15 ki, 45 kmvhr 1 =T
g ¥ HA & | et i stEd a9 R Y

(a) 3-8

(a) 35 km/hr
(hy 49

(by 375 km/hr
(e) 57
. (c) 395 km/hr
(d) 640

(d> 40 km/hr

111. 7 61 v whem &, 20% B “Sow S v

A 3 |Hﬁaﬁaﬁvﬁmaﬁ‘(m)§m 114, B¢ Sesa nmiteh Benrasnron |asan S
e fen s 2, @ “gum Sof” F T 3T 1 T T 2 0

Sheg 19 10 & 8 9
(a) 1/36
(a) 20°
by 1/6
(b)y 36°
P — | () T7/12
(d) 144° (d) 5/12

112. 9l (AH) % % G=E &, AeT N qeE
foaem s 5 @i 2 § 1 A w195, Afr A ot B =@ wER H @ meAd ¥

(yA) 4 5 Srg fen s, @ ofmon ¥ qu 2P(A) = 3P(B) & 0 < P(A) < P(B) < 1 &,
q=d 1 ferwor ik &= g v frferfae & @ wm wd 2 2

@ 10 (a) P(A|B)<PB|A) <PANB)

b) 20 (b) P(ANB)<PB|A) <PA|B)

© 40 (¢) P(B|A)<P(A|B)<P(A N B)

d) 170 (d P(ANB)<PA|B) <PB|A)
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116. A box has ten chits numbered 0, 1, 2, 3, ..., 9.
First, one chit is drawn at random and kept
aside. From the remaining, a second chit is
drawn at random. What is the probability that
the second chit drawn is “9” ?

(a) 1/10

(b) 1/9

(¢) 1/90

(d) None of the above

117. One bag contains 3 white and 2 black balls,
another bag contains 5 white and 3 black
balls. If a bag is chosen at random and a ball
is drawn from it, what is the chance that it is
white ?

(a) 3/8
(b) 49/80
() 8/13
@ 1/2
SRCY-S-ADN (42

118.

119.

120.

*A)

Consider the following in respect of two events
AandB:

1. P(A occurs but not B) = P(A) — P(B) if
BcA :
2 P(A alone or B alone oceurs) =

P(A) + P(B) - P(A N B)

3. P(A U B) = P(A) + P(B) if A and B are
mutually exclusive

Which of the above is/are correct ?

(a) 1lonly

(.b) 1 and 3 only
(¢) 2and3only
(d) 1and2only

A committee of three has to be chosen from a -
group of 4 men and 5 women. If the selection
is made at random, what is the probability
that exactly two members are men ?

(a) 5/14
b 1/21
(c) 38/14
@ 8/21

The standard deviation o of the first N natural
numbers can be obtained using which one of
the following formulae ?

i
(¢} o= Nl—;l~
@ o= Nzlgl




116. s fesa # 10 ufefai @ S w0, 1,2, 3, ..., 9

117,

forman g3m 8 | wgdl Uk wel AigesAn Fereh
Sl & SR % % W@ @ S g | Swehr gia
48, g w=ff ageew feeh 9 @
Zall u=fl < “9” &1 T wifeRar = R 2

(2) 1/10

b 1/9

(¢) 1/90

(d) IvdF ° ¥ g T

Th Il H 3 |G R 2 Fiel 7S €, g o #
5 @hg 3 3 el M F | A} wF A A
Frgesdl A1 T 8 AR I | T g et
STt €, 1 3 o " §1M <l @@ SRRt & 2

(a) 3/8
(b)  49/80
© 8/13
@ 1/2
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118. 3 HAIRT A 3R B & dHey ¥, Fmfafeq w

119.

120.

(43-A)

(d)

foam FifS

1. P(Agfea g afea B 78) = PA) - P(B)
afe Bc A

2. P(®IA@ A & Had B Hikd &) =
P(A) + P(B) - P(A N B)

3. P(A U B)=P(A) + P(B) afg A 3R B 9w
IS 8

Swe # | wH-EVA T 22 2

(a) ohadl 1

(b) Wae 13N 3

(c) <had 23R 3

(d) Haer 13 2

4 9§ 3R 5 ufgensdi & s wgg 4 ¥ 3 <l
H s affy =1 =m e s @ | AR s
Argesdn foha S R, it o iR @ R g
-3l 2 UeTT gey g 2

(a) 5/14

b 1/21
(¢) 3/14
8/21

f=fafead 4 @ fFa g3 =1 99 +, vom N
TTeRfceh ATl 1 WM foe o, W R
ST Hehdl 8 2

@ o= 1212_—1
(b) o= Ni; 1
(¢ o= N_I;_l_
d o= N;}; 1




SPACE FOR ROUGH WORK
H &N & oI g
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SPACE FOR ROUGH WORK
el 1 o fore wre
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SPACE FOR ROUGH WORK
HE HIH o [0 12
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SPACE FOR ROUGH WORK
= wM & fore wrg
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STa 7 TTHT TE T Gieaeht @ieid &1 7 HgT FT 77 7 7 @let

A, &, €. : SRCY-S-ADN witeror gfeaent STHwH

T RIOT GiEcrant
T

W&?Wé’&ﬁ?ﬁ?ﬁfﬁ%’ gurfes : 300

10.

T
vl TIEW B 3% g% 918, T 39 e gitenr Y aghTe sava aR o fo ged w6 fam o,
mmtgaganwaxwm,anﬁq@laﬁ&m%,ﬁsﬁnﬁuﬁwg@mﬁmﬁﬁm
w&mnﬁ%omm-mﬁ,ﬁawwm,ﬁawaﬁwﬁwg%m (et
FE) A, B, C I1 D 1, T | ua famn feeft = = forwmfa & wi i speg e
srffear & | TRl ot wee <t g /e <y fedrfa ® s fre w6 foan s |
39 wieqor gfede 9 @ H T2 T Hisss § IR ST }
A T § | wite gftas W ot go 7 fod |
=0 wle qfee § 120 Eiw (9w) w1 v s R oi st 2 A B R | Ao
g § AR e (IW) fu mu E | T A Uh TegeR R R o, o o Se-we W difthd e
ATEA £ | Al AT TE o 6 U & 1M URIT e €, dl 99 JegTd bl ifehd i S AT HATTH
& | Yo SIS % o Faer o @ IR A1 2 |
TR ST T e e § R T St W 7 difehd e # | I | fau e Fdy <fe |
T} qIATE % 3TH UHH 7 |
T Eel Tb oy T qiea & i AT S Yol ST-Es W i ST I W, IR 9
ToLaE % W I e & SHEn 6 faet ImaEms # 3 # |
AT T W TR B ITTEH 0 W S 91e 991 T % 9N W aer Iu-UHE AHiEd &
ﬁqélmﬁa%quﬁwgméﬁﬁwﬁr%l |
el HH o U gk qheror feqent o o § 9o & |
TeTd 39 & fog gue .
FEgtE weA-uEt # seftea g {3 e e st % fog gus T s |
() U S F fru = Awfeus 3w 3 | Iefigan g ueE Y % foe fow e wes e IS fo o
¥q T fopw T ot 1 UeR-TETE U % F9 H el T |
Gi)y afE A 3nfiear vE & 7w IR 21 8, 91 38 Terd I AT SO, A T e IRl # § o I
w8 2 2, R o 38 e % for Swehen € SH ot %1 gvs e smom |
(i) uf Ieftean gm0 HrE we B T fEA San 8, e Iefiear grn SR A4 fem S &, 36 A F
fore =g gus =& fezn smom |

T T HTTHT TE GO GITHT @eTd @i T HET AT 7T a% T Giet

Note : English version of the instructions is printed on the front cover of this Booklet.
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